
Version:09/12/2022 1/11



2/11



3/11

B x 10 C x 8 D x 4A x 44

M4 x 35 mm M4 x 25 mm M3 x 30 mm



4/11

θ 
是

写
爸

爸

3 



5/11

x1 x1 x2

x4 x4

1 2 3

4 5 6

7 8 9

10 11 12

13 14 15

16 17

x1 x2 x2

x2 x1 x1

x1 x1 x1

x1 x1 x1



6/11

M4

Attach two part 5 side panels to part 7 cabinet back with 
four part A screws.
Attach part 6 frame with four part A screws.

 x 35 mm

A x 8

11

5

5

6

7

A

A

A

A

A

A

A

A

A

A

6
5

When turning the screws, please do it  slowly
and keep the direction vertical.



7/11

M4

A

A

D

Attach four part 17 foot-support with eight part A screws. 
Rotate four part D height adjusted foot-pad into the bottom.

 x 35 mm

A x 8 D x 4

2

5

5

5

6

17

17

17

17

17

6

7

A
A

A

A
D

D

A

A A

D

D

When turning the screws, please 
do it  slowly and keep the direction 
vertical.



8/11

A

A
A

A

A
A

A
A

A

M4

Attach part 8 left side and part 9 right side to part 7 cabinet back 
with eight part A screws.
Attach part 10 connect frame with six part B screws.
Attach part 2 and part 4 doors with four part A screws.

 x 35 mm M4 x 25 mm

A x 12 B x 6

3

5

5

7

109

8

3

4

7A

B
B

B
B

B
B

7

7

10B

B

A

3

5

A

A

When turning the screws, please 
do it  slowly and keep the direction
 vertical.



9/11

M4

Attach part 1 and part 3 doors with eight part A screws.
Attach part 6 frame with four part A screws.

 x 35 mm

A x 12

4

1

2

6

6

A

A
1

A
A

A
A
A

A

A
A

A
A
A

When turning the screws, please do it slowly
and keep the direction vertical.



10/11

M3

Attach part 14 left door locker with four part C screws.
Insert part 16 into part 15 right door locker, attach part 15 with
four part C screws.
Put part 11 floor into cabinet.

 x 30 mm

C x 8

5

11

11

14

14

15
16

15

16

C
C

C
C

CC

C C

When turning the screws, please do it  slowly
and keep the direction vertical.



11/11

M4

Put two part 12 shelf into cabinet.
Tighten part 12 middle shelf to side panels with four part A screws.
Attach part 13 roof with four part B screws.

 x 35 mm M4 x 25 mm

A x 4 B x 4

6

12

12

13

A

A

A

A

A

BB

B

B

B

When turning the screws, please 
do it  slowly and keep the direction 
vertical.








